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S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.009 - 0.095 0.022 &
LA i 1.512 0.000 - 0.557 0.102 =
/L4, (HCI) 4,545 0.021-0.318 0.185 =
mIbE (HF) 0.306 0.003 - 0.100 0.033 s
— &b (SO2) 15.147 0.067 - 7.626 2.365 =
—4& kbR (CO) 7.578 0.005 - 0.315 0.127 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.482 - 10.492 1.279 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.018 - 0.042 0.023 &
LA 0.756 0.035 - 0.374 0.109 =
#F/bE (HCI) 0.756 0.047 - 0.243 0.181 s
wAbE (HF) 0.072 0.012 - 0.044 0.032 =
— &b (SO2) 3.789 2.241 - 2.546 2.362 =
—&Ei% (CO) 3.789 0.090 - 0.245 0.130 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.625 - 1.855 1.297 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0050 &
IR R g ) 7.575 x 10°° <5.593 x 1020 &
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S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.404 0.003 &
LA i 1.512 0.017 - 0.399 0.066 =
Z/LE (HCD 4.545 0.014 - 0.174 0.132 TE
mIbE (HF) 0.306 0.007 - 0.048 0.024 =
— &b (SO2) 15.147 0.122 - 3.661 1.881 =
—4&bi% (CO) 7.578 0.002 - 0.094 0.038 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.676 - 11.163 1.368 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.011 0.003 &
HEA T 0.756 0.031-0.127 0.066 =
/L4, (HCD 0.756 0.113-0.153 0.132 =
wAbE (HF) 0.072 0.018 - 0.032 0.024 s
— &b (SO2) 3.789 1.743 - 2.129 1.881 =
—&Ei% (CO) 3.789 0.015 - 0.064 0.038 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.878 - 3.288 1.374 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
IR R g ) 7.575 x 107 <5.465 x 1020 &
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Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.004 - 0.019 0.007 &
LA i 1.512 0.000 - 0.322 0.050 =
Z/LE (HCD 4.545 0.035 - 0.215 0.122 y=3
mIbE (HF) 0.306 0.006 - 0.067 0.035 s
— &b (SO2) 15.147 0.001 - 2.651 1.728 =
—4& kbR (CO) 7.578 0.010 - 0.147 0.059 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.361 - 8.709 1.186 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.005 - 0.011 0.007 &
LA 0.756 0.015 - 0.082 0.050 =
Z/LE (HCI) 0.756 0.075 - 0.164 0.122 s
wAbE (HF) 0.072 0.024 - 0.040 0.035 =
— &b (SO2) 3.789 1.293 - 2.052 1.731 =
—&Ei% (CO) 3.789 0.044 - 0.119 0.059 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.646 - 2.303 1.191 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0048 &
IR R g ) 7.575 x 10°° <5.260 x 1020 &
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